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B . Grey line: exponential fit Peak flux: 1.545+/- 0.017 c/s/cm? n
1 Black line: power law + gauss fit Fluence : 19.54+/- 0.73 c/cm?
? Y Dashed line: power law Duration 26. 40+ ]:28 s é
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= Expon.time: 7.41+/- 0.13s (chi*red= 2.24) 3
- | gt E
= WA e e 4 + 3
= | R R T R T T T AT T i .
= ﬁ%ﬁﬂﬁ*ﬁ | ﬁ%ﬂ PPEE i [ PR +ﬂHﬁwﬁmﬁmﬁuwWﬁwwﬂQﬁﬁﬁwﬁwﬁﬁm@
= I =
; Power law fit é
E Power law index: -1.673+/- 0.009 (chi*-red= 6.74) =
g ﬂﬂ ;
= | ﬂ =
= Pl =
- { -
S WA ! by Whothlh ol et
S T Fh ot ot st St bbb 0S8 B0 R bt A
S ﬁH N H: ﬁmwﬁ%WW ! **ﬂ*“ﬂﬁﬁ”ﬁ ﬂﬂwm i W LR WHW P ﬁ%
= AL E
— + 0
= : =
f e ‘ f
— Power law fit plus Gaussian (st.dev.= 9.12+/- 0.08 s, fracgs= 0.30+/- 0.01) =
- Power law index: -1.404+/- 0.032 (chi*-red= 1.22) 7
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